DATE

SUBTRACTIONS

1. In the ground, 10 monkeys are playing on the tree and 2 monkeys are sleeping
under the tree. 9 of the playing monkeys leave the ground. How many monkeys
are left in the ground.

12 - 9 =

12 - 9 =

There are ____ monkeys left.

2. Bill have 16 muffins on his plate. He ate 9 of them. How many muffins are left
in his plate.

16 - 9 =

16 - 9 =

Bill have left with __ muffins.

3. Mike has 14 car toys with him. He gave 9 car toys to his brother. How many car
toys Mike have.

14 - 9 =
14 - 9 =

Mike has ___ car toys left.
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